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T —(cotx cot 2x— cot 2x cot 3x—cot 3x cotx)=—1
Hd: cotx cot 2x— cot 2x cot 3x —
cot3xcotx =1
Proved.
4tan x (1— tan? x)

1- 6 tan® x+ tan? x

TA . - tandx = tan 2. (2x)

U 23. tandx =

= tan 24 AT 2x = A
_ 2tanA
1—tan? A
2tan A
BEN tan2A=$2@
l1—-tan” A
2tan 2
= AR (A= 2 TE )
1—tan“ 2x
9 2tan;c
_ l1—tan“ x
1—(tan2x)2
4tanx
_ (l—tan2 X)
1_( 2tanx )2
1—tan? x
4tanx
_ (1— tan? x)
4tan? x
1- 2 12
(1-tan” x)
4tanx
(l—tanzx)

1- tan? x)2 — 4tan? x
a- tan? x)2

_ 4tanx
- a- tan? X)
a- tan? x)2
a- tan? x)2 — 4tan® x

4tanx(1— tan? X)

1- 2tan? x + tan* x)— 4tan? x

_ 4dtanx(1- tan? X)
- 1- 6tan® x+ tan* x
4tanx (1— tan? x)

1- 6tan” x+tan* x
YT 24. cos4x= 1— 8sin® xcos® x
B : L.H.S. = cos4x

= 1- 2sin%(2x)

=1- 2[sin29c]2

=1-2 [2sinxcosx]2

Hd: tandx =

=1- 2(4si1r12 xcos? x)

2 x0032 X

=1- 8sin
= R.H.S.
W9 25. cos6 x= 32cos® x—
48cos* x+ 18cos® x— 1
¥ : L.H.S.
= cos 6x = cos 3(2x)
cos 3A
4cos® A—3cos A
cos A (400s2 A—3)
cos A [4(cos 2x)% — 3] (Ffw A= 2x)
cos A[4(2 cos® x — 1)2 - 3]
(FAfF cos2x= 2cos® x—1)
cosA [4 (40054 x— 4cos? x+ 1) — 3]
cos A [16(:054 x—16cos? x + 1]
4 x—16.cos? x+ 1]
(. A= 2x)
= (2(3052 x—1) (16cos4 x— 16cos? x+ 1)
= 32cos® x— 32cos* x+ 2cos? x—
16cos* x+16cos? x— 1
= 32c0s® x— 48cos? x +18cos? x— 1
= R.H.S.

(AT 2x = A)

cos 2x [16 cos



P fafry gt |
B e

9
e 1. 2cosl cos—n +

13 13
3n 5w
cos—+cos—=0
13 13
g : L.H.S.
4 9w 37 5%4
= 2c08s—Ccos——+cos——+ cos——
13 13 13 13
T 9
= 2cos—cos— +
13 13

o) (O

2cos|13 13|cos|13 13’|
A O

T 9 4 I
= 2(30s1—3 cos— + 2co8— cos—

13 13 13
T 9 451
= 2c0s—|cos—— +cos——
13 13 13

3

T
= 2cos—| 2cos

&
A

J 57
= Zcos£ 2coszcos—7-|
13772 " 26 |
4 %4 T
= 4c0S——COS—— X COS —
13 26 2
5
= 4cos£cosix 0 ( cosE = 0)
13 26 2
=0
= R.H.S.

WeT 2. (sin 3 x+ sin x) sin x+
(cos3 x— cosx) cosx=0
T : L.H.S. = (sin3x+ sinx) sinx +
(cos 3x — cosx) cosx

[l

) [ . (3x+x) : (x—Sx)1
sinx+|2sin sin cosXx
I 2 2 ]

= [2sin2xcosx]sinx
+ [2sin 2x sin(—x)] cosx
= 25s1n 2x sin x cos X

+ [~ 2sin2xsin x | cosx

[fh sin(—x) = — sina]

i (dem 11) | 11

= 2sin2xsinxcosx
— 2sin2xsinxcosx
=0
= R.H.S.
U 3. (cosx+ cosy)? + (sinx— siny)?

x+
= 4cos> xry

B : L.H.S.
= (cosx+ cosy)2 +(sinx— siny)2

+y x—yf
Ccos
2

= (2 cos X

x+y x—y 2
+(2cos sin )
2

x+ 9 X—
2 Y cog’ Y

2

= 4cos +

X+ . X —
2 ysmz Yy

2
+ —_ [—
= 4cos® T |_cos2 (x y) + sinz(x 2 yﬂ

4cos

2 2
+ .
= 4cos” Lzy [1] (i sin? 0+ cos? = 1)
2 Xty
2
= R.H.S.
T 4. (cosx— cosy)? +

= 4cos

(sinx— siny)2 = 4sin? x;zy

B : L.H.S.
= (cosx— cosy)2 +(sinx — s.iny)2

+y . y—x)2
sin

= (2 sinx
2

+y

sin

2
x—y)

+ (Zcos a
2

+y . x—y)2

= (— 2 sin X sin
2

y .
sin

2
+ —
+(2cosx x2y)

. x+ . x—
=4sm27ysm2 Y
2 2

+y . gx—
+ 4cos2 usm2 X7y
2 2

= 4 sin? =y [sin2 x+y+cos2 x+y]
2 | 2 2 |
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= 45in2 X2 1] (% sinZ 6+ cos 0 =1) & : L.H.S.
2 = sin 3x+ sin 2x — sinx
= 4sin2 77 Ut+x . 2
= 4sm = sin 3x+ 2 cos & xsin S
2 2
= R.H.S. .

_2 1 % %4_2 % 1M —
99 5. sinx+sin3 x+ sinb x+sin7 x = 4sin 92 cos 2 cos 2 Sln2

= 4cosxcos2 xsin4 x 3x[ . 3x . x}
. . . . = 2 cos— |sIn— +sin—
BT : L.H.S. = sinx+ sin 3x + sin 5x + sin 7x 2 L 2 2
= (sin 7x+ sinx)+ (sin 5x + sin 3x) [ (Sx N x) (3x x)—|
Tx+x Tx—x 9 ' 9 )
= 2 sin 2 Ccos 9 =2cos% 2sin 222 222 }
. bx+3x 5x— 3x |
+ 2 sin 2 cos 2 L J
. . 3x . 2x X
= 2 sin4xcos 3x+ 2 sin4xcosx =2 COSE 2 sm? cos 3
= 2 sin 4x [cos 3x + cos x] 3
3x . x
. x+x 3x— x| = 2 cos— |2 sInx cos —
= 2 sin4x| 2 cos cos 2 2
2 2 J X 3x
= 2 sin4x [2 cos 2x cos x] = 4sinx coss cos—
= 4 cosx cos 2x sin 4x — R.HS.
= R.H.S. . x X
(sin7 x+sin5 x)+ o frfefaa weren wes 8ins, cosy qqr
(sin9 x+ sin 3 x) b'¢
e 6. = tan6 x tan= JATd ST :
(cos7 x+ cosb x)+ 2
(cos 9 x+cos3 x) T 8. tan x= _g, x Faefter wrqartor % &1
B : L.H.S. 4
_(sin7x+sinb x)+ (sin9 x+ sin 3 x) Tt tanx=—§
(cos 7 x+ cos b x)+ (cos 9x+cos 3 x) ¥
. Tx+5 Tx— 5 2tan—
2sin x2 xcos x2 x+ 72=_é
2 X 3
9x+3x  9x—3x Ly tan 9
2 sin 9 cos 2 " x
= v : 2 — = At —
T Rl 4+ 4 tan 2—btan2 (TS F)
2cos 2 cos 2 . .
ort3r  9r— 3 Rl 4tan2§—6tan§—4= 0,  (We=RuIH)
2 cos 9 cos 9 x x
. . A 2tan? = — Z_2=
_ 2s8In6x cosx+ 281n 6x cos 3x tan 2 3 tan 2 0
2co0s6x cosx+ 2cos6x cos3x a0 2tan2§—4tan§+tanf—2= 0,
_ 2sin 6x (cosx+cos3x)  sin 6x 2 2 2
2 cos 6x (cos x+cos3x) cos 6x q Ztang (tan;c - 2)+ 1(tan;c - 2) =0
= tan 6x x x
= R.H.S. a1 (2tan2+ 1) (tanZ— 2) =0

Yo 7. sin 3 x+ sin 2 x— sinx

. x  3x Wm?ﬁ(2tanx+1)=OqTﬁh_{(tanx—2)=0
=4 smxcosé 0057 2 2



X X 1
AT 2tan= +1= 07 tan> = —;
an2 anz 9

SﬁTqﬁtang—2=0‘cﬁtang=2
a1 R x T wgafa ¥ 7
g %<x<n

oA EI WL <Xl
4272

ngqmﬂaﬁﬁm@mg%mﬁ
i e TS 2
tang=—%3‘m%3ﬁ: tang=2

X
9 sec2 = = 1+tan2§

o R

2
=1+(tan;) =1+(2)2=5

=> secg=\/3 (¥ 9 2

adqn I

TA

i (e 11) | 13

qd 2 T 9 & W
JT X

ERCR!
W%@H@Wﬁq@'ﬂ ﬁm@sing

3

TR BT STefEh cosg T tangw Fanl

Hd: cos£=—ﬁ
2 3
adn sin? X 1— cos? d
2 2
2
N E) RN T
3 9 3
Cx 42 6
sin—=—=—
2 3 3
inx
sin >
2/
T tang— i_f\/_“/g
o N 3/3
2
2 3
LR
3 V3
Aq: sinf=—6,cosf=—@
2 3 2 3
x
El tan§=— 2 I
1 SR
WET 10. sinx= x Tt wrgarfor & 21
1 )
Eﬂ':sinx=z3ﬂ'{sin2x+cos2x=l
2
1 ’
() +coszx=1
4
1 1
cos23c=1——=—5
16 16
V15
cosx=+——
4
(TR x TR =qate ¥ 21)
15
3d: cosx=—\/;
= 20082f_1=_ﬁ
2 4
2x \/ﬁ 4—\/ﬁ
> 2co8°—=1———=
4 4
2 X 4—\/T5
> cos” — =
2 8
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x \/4—@ \/8— 2015 sin
=> cos— == ==+ x 2
2 8 16 Ad tané— P
x 8— 2J15 cos—
= COS§=i 4
- 8+ 2V15
xfEda agam i - o, <x<a _ 4 _ 8+2V15
J8—2/15  \8—2/15
2 ¥ UM FH W, TrE T —
4 2 2
wgmﬂﬁﬂﬁmﬁ@wﬁw =\/8+2\/ﬁx\/8+2\/B
. 8—2/15 8+ 215
g HACHE B J\/L;/ V15
2 4 V®% - (2V15)2
w2 ¥ 8215 8+ 215
32¢ 16 ) J64— 60
o sin2§=1—cos2§ 8+2\/ﬁ
=
. gx_ 8=215
a0 sin 2—1 16 =4+m
_gx_ 8+2)15 x V8+2J15 x N8—2J15
a sin” - =———— Ad: sin—-=———— cos— = ———
2 16 2 4 2 4
+ 241
77 - 8+2V15 IM tans = 4+ 15 I
2 16 9
.oX 8+2«/E O



